
 
 

WORX RACING SPONSONS  
PART # - WR544  

 
MODELS: YAMAHA SUPERJET  

INSTALLATION INSTRUCTIONS 
 
IMPORTANT: READ ALL INSTRUCTIONS BEFORE PROCEEDING WITH INSTALLATION 
 
Parts Supplied:               2 x WORX adjustable sponsons paddles 

6 x 3/16 x 1 Button head bolts 
6 x 3/16 x 5/8  Flat Washers 
6 x 3/16 Nyloc nut 

 
1- Remove the three rear bolts with a Phillips screw driver and 8mm spanner. Install one 

3/16 x1 bolt and 3/16 nyloc nut to rear hole and tighten. Mark the 2 forward holes on 
the outer side of the rail. Using the electric drill with the 3/16” drill bit, drill out the 
holes marking marked from sponson in the hull side rail.  

2- Fit the WORX sponsons using the 8 x 3/16” x 1 Allen head bolts and the flat washers 
with 3/16 nyloc nuts. Apply a small amount of the blue loctite to each bolt. Be careful 
to start all of the bolts into the sponsons before you tighten 
 

3- Warning: These sponsons will vastly improve the turning capability of your boat!         
              Take time to get used to them before you attempt any hard cornering. 
 

 
 
Thank you for purchasing WORX Racing Components products. We firmly believe that 
WORX Racing Components products are among the finest watercraft parts available. A 
great deal of time and effort has gone into the design and development of this product to 
ensure that it will perform to the highest standard and that installation is a relatively straight 
forward and simple procedure. If you have any questions or comments on the performance 
and/or installation of our products please contact us at the numbers listed on page one or 
through your local WORX dealer.                 
 
 

10B 354 Brisbane Rd Arundel QLD 4214 Phone: +61 7 5563 1031 
www.worx.com.au / info@worx.com.au 

http://www.worx.com.au/

